001

| Motorized Stage

X-axis Linear Ball Guide : KXG06020V

KXG06020TV-P28

KXG06020MV-P28

Accessory P28 ‘ s38 ‘ S40
Motor bracket 0
(installed on main body)
Coupling
(with screws) ©

 [ForMotor |  4ofM2.5-6 ‘ 4of M3-12 ‘ 20f M4-12
Mounting -
screw | For Main 4of M4-10

Body

Sensor cable O(HR10AP-S-SB-6-[])
Cable tie o ‘ ] ‘

* Sensor cable: Select from 2m, 3m, 5m

KXG06020TV-P28- ]

n Connector specifications

E Application Motor

T Pig tail

M Panel mount

Code Specification

P28 [128 Stepping motor specification

S38 [1]38 Servo motor specification

S40 [140 Servo motor specifications

E Cable option

Code Specification

Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire

Model KXG06020TV-P28 KXG06020MV-P28
= [Travel distance 20mm
S [Stage surface size 60x60mm
E' Connector type Pigtail \ Panel Mount
g Feed screw (Ball screw) $8 Lead 1
8. |Guide Linear Ball Guide
g,' Main materials-Finishing Special Steel— Electroless nickel plating
S |Weight 0.60kg
Resolution/ Full/Half 2um/1ym
Pulse Micro step 0.1pm (1/20 On resolution)
MAX speed 20mm/sec
Z |Uni-directional positioning accuracy 5um
§ Repeatability positioning accuracy +0.5um
5 Load capacity 10kgf[98N]
c-‘: Moment stiffness Pitch 0.08/Yaw 0.05/Roll 0.05["/N - cm]
S: |Lost motion 1um
S |Backlash Tpm
S [Straightness 3um
Parallelism 15um
Motion parallelism 10pm
Pitching/Yawing 20"/15"
o |Limit sensor Available
% Origin sensor Available

Slit origin sensor

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 0.64kg.



Dimensions

835
KXG06020TV-P28  4-45THRU (8C'BORE 60 235
(Bolt hole for M4) 25 25 16
5 8-M4 5DP 1616 15115 | 4-93
ERSI © | 4 s
+ 1 (=]
w0 o (;J} - @m - S
B ©| s ¢4 =T 5
02 O ©f =
5 - 5 5
I o i\ ﬁ%ﬁlmmmm—n-em)
© -3 50 IR
Connector HR10A-7P-65(73
7l €9 8
2o e
50 s | B g
T |9t
e BT lloN]
< ||
ol Jo &lele
=1
T
=] —
=
z ©
55 5(H7) 4DP
50
KXG06020TV-S38  4-4.5THRU D8C'BORE 102
(Bolt hole for M4) 60 42
25 25 ©
5_ 8-M4 5DP 16 116 & 16 _ 4-M3 6DP
B
©- ~ 3 O
w0 ©o ¢ ¥ i & =
e © e N \
] 3 o4 403 = =
© ® \
ok —0 = CYmi N Y
?
o 1& Connector HR10A-7.-6P(73)
8-M3 50P 1 m Cn O
0| Connector HR10A-7P-65(73
‘ =
% 9 2
2k 4
o 50 5)1] 245 |35 2 |, |ss
B|w[5oFT
ool RS
o oL elelolel
— 1
T
=] —
g ®
wn
55 O5(H7) 4DP
50
102
KXG06020TV-S40  4.45THRU O8C'BORE 60 ]
(Bolt hole for M4) 25 25 o
5 8-M4 5DP 16_ 16 &, 4-M4 8DP
& O = N
9 o
g.“_’ © e H
8 8 ¢4 Am(=d 5
© ©)
Q) = = =1
o O\ O wtommw-am
8-M3 5DP R
© Connector HR10A-7P-6S(73)
‘ I
)
8w = g
2 B o
~ 50 157 245 |[35 8| |, |sg
3| 977
e Jo) Seoys
°© <220 &8l818
=
=) —
=
s (]
55 D5(H7) 4DP
50




003

| Motorized Stage

XY-axis Linear Ball Guide :KYG06020V

KYG06020TV-P28

KYG06020MV-P28

Accessory P28 ‘ s38 ‘ S40
Motor bracket 0
(installed on main body)
Coupling
(with screws) ©

 |Formotor |  8ofM25-6 ‘ 80f M3-12 ‘ dof M4-12
Mounting -
screw | For Main 4of M4-10

Body

Sensor cable O(HR10AP-S-SB-6-[])
Cable tie o ‘ ] ‘

KYG06020TV-P28-[]

* Sensor cable: Select from 2m, 3m, 5m

n Connector specifications

E Application Motor

T Pig tail

M Panel mount

Code Specification

P28 (128 Stepping motor specification

S38 [[138 Servo motor specification

S40 (1140 Servo motor specifications

K cable option

Code Specification

Blank | Sensor cable 2m One end loose wire

3 Sensor cable 3m One end loose wire

5 Sensor cable 5m One end loose wire

Model KYG06020TV-P28 KYG06020MV-P28
= [Travel distance 20mm

;5' Stage surface size 60x60mm

%‘ Connector type Pigtail \ Panel Mount
« |Feed screw (Ball screw) $8 Lead 1

8. |Guide Linear Ball Guide

g,' Main materials-Finishing Special Steel—Electroless nickel plating
S |Weight 1.20kg

g’? Resolution/ Full/Half 2um/1ym

8 [Pulse Micro step 0.1pm(1/20 On resolution)

€ |MAX speed 20mm/sec

% Load capacity 9kgf[88.2N]

S |Squareness 10pum/Full stroke

® Limit sensor Available

§ Origin sensor Available

= |Slit origin sensor —

£ |Uni-directional positioning accuracy 5um

é. Repeatability positioning accuracy +0.5pm

£ |Lost motion 1ym

& [Backlash 1ym

‘§.; Straightness 3um

£ |Pitching/Yawing 20"/15"

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 1.28kg.



Dimensions

KYG06020TV-P28

| KYGO06020TV-S38

Ja

©
28 —
g
3
=
— '_]
=
= owe 150 4-4.5THRU ©8C'BORE

(Bolt hole for M4)

83.5 102
60 23.5 60 42
8-M4 50P 2% __ 25 8-M4 50 %25
16_| 16 16 _| 16
L 1
Fo- o - - D -
9 <+ | ¢ A I & |1 @/\:D
8 9 Blost=] 8 64|® Oli ol
s © @/ re) @/:D
g & ™~ o | B
o
= ¢ ﬁ %mﬁ%
- g ] e o -
o o él JQ 8-M3 5DP X -
i Connector HR10A-7.-6P(73 g Connector HR10A-7J-6P(73
Connector HR10A-7P-65(73 Connector HR10A-7P-6S(73
w
(o o
0 _1_0O
o((®) ot @® N
o o@T©®o 0o e ° ]
(=] o ©
. e ® . i, 6 | ¢
3 5 T -3
m o o1l o LDJ .“EI TﬁT@ @%w 7 LDJ: Sl
0 [150 ‘\\4-4.5THRU D8C'BORE ™ [150 4-4.5THRU $8C'BORE
(Bolt hole for M4) (Bolt hole for M4)
KYG06020TV-S40
102
60 42
25 25
8-M4 5DP 16 16
3 R
Q. — -9 | {9~ T
=~
o b O Oy bl
< ¢ P13
o @j
IN &
3 — *%\ is
ISR ﬂ% R ERE
o O O] \8Mm3sop
Connector HR10A-7J-6P(73)
Connector HR10A-7P-6S(73




005

| Motorized Stage

/-axis Linear Ball Guide : KZG06020V

KZG06020TV-P28

KZG06020MV-P28

KZG06020TV-P28-[]

m [ s [
Motor bracket o
(installed on main body)
Coupling
(with screws) o

_ [Formotor | dofM256 | aofmM3-12 [ 2ofma-12
Mounting For Vi
screw or viain _

Body 40f M4-10

Sensor cable (O(HR10AP-S-SB-6-[)
Cable tie O ‘ - ‘

* Sensor cable: Select from 2m, 3m, 5m

n Connector specifications

E Application Motor

T Pig tail

M Panel mount

Code Specification

P28 (128 Stepping motor specification

S38 [[138 Servo motor specification

S40 (1140 Servo motor specifications

K cable option

Code Specification

Blank | Sensor cable 2m One end loose wire

3 Sensor cable 3m One end loose wire

5 Sensor cable 5m One end loose wire

Model KZG06020TV-P28 KZG06020MV-P28
= Travel distance 20mm

% Stage surface size 60x60mm

g |Connector type Pigtail \ Panel Mount
& |Feed screw (Ball screw) $8 Lead 1

S, |Guide Linear Ball Guide

g Main materials-Finishing Special Steel—Electroless nickel plating
S |Weight 0.96kg

g Resolution/ Full/Half 2um/1ym

8 [Pulse Micro step 0.1pm(1/20 On resolution)

€ |MAX speed 20mm/sec

% Load capacity 3kgf[29.4N]

£ |Perpendicularity 10pm/Full stroke

® Limit sensor Available

§ Origin sensor Available

= |Slit origin sensor —

£ |Uni-directional positioning accuracy 5um

é. Repeatability positioning accuracy +0.5pm

£ |Lost motion 1ym

& [Backlash 1ym

‘§.; Straightness 3um

S |Pitching/Yawing 20"/15"

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 1.00kg.



KZG06020TV-P28

Connector HR10A-7P-65(73

Connector HR10A-7J-6P(73

55

| KZG06020TV-S38

23.5

42

25
16

60

©9)

25
16
118.5

60

65

35
5.5

10

50

4-4.5THRU ®8C'BORE

60

=1
i
cu\_" ]
= ~
o)
&
8
5
ok g
50
4-4.5THRU 8C'BORE
(Bolt hole for M4)

KZG06020TV-S40

Connector HR10A-7P-6S(73)

Connector HR10A-7J-6P(73)

41

42

60
25
16
137

@ e)

16

25

65

35
5.5

L
10

4-4.5THRU O8C'BORE




007

| Motorized Stage

XYZ-axis Linear Ball Guide : KWG06020V

KWG06020TV-P28

-

KWG06020MV-P28

Accessory P28 ‘ S38 ‘ S40
Motor bracket 0
(installed on main body)
Coupling
(with screws) o

_ [Formotor | 1201256 | 120fM3-12 | 6ot Ma-12
Mounting For Vi
screw or viain .

Body 4o0f M4-10

Sensor cable (O(HR10AP-S-SB-6-[])
Cable tie O ‘ ‘ -

KWG06020TV-P28-[]

* Sensor cable: Select from 2m, 3m, 5m

n Connector specifications E Application Motor
Code Specification
P28 (128 Stepping motor specification
e S38 [[138 Servo motor specification
T Pig tail S40 | [1140 Servo motor specifications
E Cable option
Code Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
M Panel mount 5 Sensor cable 5m One end loose wire

Model KWG06020TV-P28 KWG06020MV-P28
= Travel distance 20mm

% Stage surface size 60x60mm

5- Connector type Pigtail \ Panel Mount
o |Feed screw (Ball screw) ¢8 Lead 1

S. |Guide Linear Ball Guide

g{ Main materials-Finishing Special Steel —Electroless nickel plating
S |Weight 2.16kg

5 Resolution/ Full/Half 2um/1gm

S [Pulse Micro step 0.1um(1/20 On resolution)

% MAX speed 20mm/sec

2 |Load capacity 3kgf[29.4N]

§:‘ Squareness 10pm/Full stroke

S |Perpendicularity 10um/Full stroke

® Limit sensor Available

§ Origin sensor Available

= |Slit origin sensor —

£ |Uni-directional positioning accuracy 5um

é. Repeatability positioning accuracy +0.5ym

£ |Lost motion 1pm

£ |Backlash 1um

% Straightness 3um

5 Pitching/Yawing 20"/15"

* SPEC is the value of the standard motor.
* When the applicable motor code [S38/S40] is selected, the weight is 2.28kg.



Dimensions

KWG06020TV-P28 T

Connector HR10A-7P-6S(73)

Connector HR10A-7J-6P(73)

55
]
[on==Y
8-M3 50P .
o 11 lo 1
o
N of | 4 |l g
N cof
— w
8 i 140 o g €
PRES
B e Sy P ®
< ||| ¢ -
8-M4 5DP g | s |

235 6 4-4.5THRU ©8C'BORE
83.5 (Bolt hole for M4)

KWG06020TV-S38 T

Connector HR10A-7P-6S(73)

Connector HR10A-7J-6P(73)

60
4
1=
8-M3 5DP g A o
3¢f JQ . ‘
J |+ | 11 P
2 5
3 440 o €
ol
T -4 |1 ®
& ||| 4 E al
8-M4 5DP N ls
&
e S <
i )
o
T 17 | “
o ' I
o i
16_| 16 © 50
2% | 2 60 )
42 60 4-4 5THRU OBC'BORE 102
102 (Bolt hole for M4)
+
KWG06020TV-S40
Connector HR10A-7P-65(73)
61
4
8-M3 50P A il @’Z@i’
3¢ @ lor 0
N .
Qd ¥ | 4 |14 5 ©
3 w[ ¢4y ¢ €
g -+ |1 °
EIE: = al
5]
8-M4 5DP. 5|
&
<
AN - \ 8
] !
IHH [
wf
16_|_16 <
%5 | 2%
42 6 4-4 5THRU OBC'BORE
102 (Bolt hole for M4)




009

| Motorized Stage

X-axis Linear Ball Guide : KXG0O6030V ﬂ

KXG06030TV-P28

KXG06030MV-P28

m | s [
Motor bracket o
(installed on main body)
Coupling
(with screws) o
_[Formotor | dofM256 | aofmM3-12 [ 2ofma-12
Mounting For e
screw or Main R
Body 40f M4-10
Sensor cable (O(HR10AP-S-SB-6-[)
Cable tie o ‘ - ‘
* Sensor cable: Select from 2m, 3m, 5m
KXG06030TV-P28-[ ]
1] 2] H
[l Connector specifications H Avplication Motor
Code Specification
P28 [7128 Stepping motor specification
e §38 | [1138 Servo motor specification
Pig tail S40 | [1140 Servo motor specifications
K cable option
Code Specification
Blank | Sensor cable 2m One end loose wire
8 Sensor cable 3m One end loose wire
Panel mount F@ 5 Sensor cable 5m One end loose wire
Model KXG06030TV-P28 KXG06030MV-P28
= Travel distance 30mm
% Stage surface size 60x70mm
§- Connector type Pigtail \ Panel Mount
o |Feed screw (Ball screw) ¢8 Lead 1
8. |Guide Linear Ball Guide
§=_ Main materials-Finishing Special Steel—Electroless nickel plating
S |Weight 0.70kg
Resolution/ Full/Half 2um/1ym
Pulse Micro step 0.1pm(1/20 On resolution)
MAX speed 20mm/sec
= |Uni-directional positioning accuracy 5um
£ |Repeatability positioning accuracy +0.5um
& |Load capacity 10kgf [98N]
?‘: Moment stiffness Pitch 0.06/Yaw 0.05/Roll 0.05[""/N « cm]
£: |Lost motion 1um
§_ Backlash 1um
S [Straightness 3um
Parallelism 15um
Motion parallelism 10pm
Pitching/Yawing 20"/15"
o |Limit sensor Available
@
2z |Origin sensor Available
o - P
= |Slit origin sensor —

* SPEC is the value of the standard motor.
* When the applicable motor code [S38/S40] is selected, the weight is 0.74kg.



Dimensions

98.5
KXG06030TV-P28 4-4.5THRU $8C'BORE 70 5_235
(Bolt hole for M4) 25 25 16
5 8-M4 5DP 16_| 16 15115 ro3
- < I o
© o & Ji s
Nl © He | 2
g ol T P s %3 = =
© Yy - ]
0|2 © © =
9 — © 1
. *K <+ ] Connector HR10A-7J-6P(73)
¢ 0 ¢ ﬁ%: -
8-M3 50P A
Connector HR10A-7P-6S(73
- @e) ® tgl 2l
sHR
H e o 215
50 98| £ -
©
<
<
ol Jo &
.q‘
=) 1
<
g [©)
Y P5(H7) 4DP
50
KXG06030TV-S38 4-45THRU GBCBORE - 117 - -
(Bolt hole for M4) 25 25
5 8-M4 50P 1616 2 16 4-M36DP
~ .
¢ <4 | o D 2
& o P A é‘?
& © 1 |
3 &% - 44 %’3 =
— © @j
¢ <
o & 3 ﬁ%gnnedor HR10A-7J-6P(73)
8-M3 5DP 1 I
Connector HR10A-7P-6S(73
)
7
A
3 m] @ o) X <
= e o
i i 7
o 50 1571 245 ||35F | |as
B 3755
o Jo SEEINES
T I olelelol
IS [ 1
<
g ©
“ 55 ®5(H7) 4DP
50
KXG06030TV-S40 s
R =
0t hole Tor
(5 ) s-ma50P 16_| 16 < 16 _ 4-M4 8DP
N, |
=B R © | ¢ S
H| o &‘cg 4’3 & *m—f\:ﬂ \43? =
8 OIRE o4 4 P =
© ® 5
ol o) @ T % -
elic & & & Nﬂor HR10A-7J-6P(73)
@ 8-M3 5DP | R
© Connector HR10A-7P-6S(73)
7
(@ 9)
8 o CX) @ ® g
= B °L 77
< 50 15/11| 245 |[35 | |y |as
&S| 0|595Y
S——J5 £2)8
© O : olelele
o
= 0
|
= ©
5.5 G5(H7) 4DP
50




011

| Motorized Stage

XY-axis Linear Ball Guide :KYGO06030V

KYG06030TV-P28

KYG06030MV-P28

KYG06030TV-P28-[]

m [ s [
Motor bracket o
(installed on main body)
Coupling
(with screws) o
_[Formotor | 8ofM256 | sofM3-12 [ dofma-12

Mounting For Vi
screw or viain _

Body 40f M4-10
Sensor cable (O(HR10AP-S-SB-6-[)
Cable tie O ‘ - ‘

* Sensor cable: Select from 2m, 3m, 5m

El Connector specifications

E Application Motor

T Pig tail

M Panel mount

Code Specification

P28 [[128 Stepping motor specification

S38 [[138 Servo motor specification

S40 [140 Servo motor specifications

ﬂ Cable option

Code Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire

5 Sensor cable 5m One end loose wire

Model KYG06030TV-P28 KYG06030MV-P28
= Travel distance 30mm

% Stage surface size 60x70mm

g |Connector type Pigtail \ Panel Mount
& |Feed screw (Ball screw) $8 Lead 1

S, |Guide Linear Ball Guide

g Main materials-Finishing Special Steel—Electroless nickel plating
S |Weight 1.40kg

Z [Resolution/ Full/Half 2um/1ym

g Pulse Micro step 0.1pm(1/20 On resolution)

8 |MAX speed 20mm/sec

= |Load capacity 9kgf[88.2N]

=) Squareness 15um/Full stroke

® Limit sensor Available

§ Origin sensor Available

= |Slit origin sensor —

£ |Uni-directional positioning accuracy 5um

é. Repeatability positioning accuracy +0.5ym

£ |Lost motion 1pm

£ |Backlash 1um

% Straightness 3um

5 Pitching/Yawing 20"/15"

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 1.48kg.



Dimensions

KYG06030TV-P28

| KYGO06030TV-S38

(Bolt hole for M4)

98.5 117
75 235 75 42
60 60
6.014 5P 2% __ 25 8-M4 50p % __ %
= 1616 - 16116
< ||| &[0 o < ||| ¢/ E
i o & | 19 = @/\ 9 © haihs f@/‘:u
elel 4o ool f] REE 40 o¢lh
© © © ©
g || [ |« ] o [ vBNlis o
IR ﬁ%t = o || N ¢ ﬁ% ‘
i L L2 |
o Ja ® 8-M3 5DP e Ja l® t
P QD‘ ] [ ‘ Connector HR10A-7J-6P(73) N [ \8-M35DP Connector HR10A-7.-6P(73)
Connector HR10A-7P-65(73 < Connector HR10A-7P-6S(73)
)
[=i [==lf=]
| O ol
o o g
o) ) o
ol 150 4-4.5THRU ®8C'BORE ™ © 150 4-4.5THRU O8C'BORE
(Bolt hole for M4) (Bolt hole for M4)
KYGO06030TV-S40
117
75 42
60
8-M4 5DP % 55
16_| 16
0|
< ||| 0
g ‘LE & e i,@/_\:u
028 o410 e ¢$}
© ©
o~ 1
~ o . ¢ 4\ i
b @ ON| 4 ﬁ%:
s ; %%i -
ﬁ 25 1\8-M3 50P
H H = Connector HR10A-7J-6P(73)
S Connector HR10A-7P-6S(73)
©
ol
~|© o
<
8 3 LDJ ‘°|
-
<] w© (150 4-4.5THRU ®8C'BORE




| Motorized Stage

/-axis Linear Ball Guide : KZG06030V

KZG06030TV-P28

KZG06030MV-P28

KZG06030TV-P28- ]

m [ s [
Motor bracket o
(installed on main body)
Coupling
(with screws) o

_ [Formotor | dofM256 | aofmM3-12 [ 2ofma-12
Mounting For Vi
screw or viain _

Body 40f M4-10

Sensor cable (O(HR10AP-S-SB-6-[)
Cable tie O ‘ - ‘

* Sensor cable: Select from 2m, 3m, 5m

El Connector specifications

E Application Motor

T Pig tail

M Panel mount F@

Code Specification

P28 [[128 Stepping motor specification

S38 [[138 Servo motor specification

S40 [140 Servo motor specifications

E Cable option

Code Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire

5 Sensor cable 5m One end loose wire

Model KZG06030TV-P28 KZG06030MV-P28
= Travel distance 30mm

% Stage surface size 60x70mm

g |Connector type Pigtail \ Panel Mount
& |Feed screw (Ball screw) $8 Lead 1

S, |Guide Linear Ball Guide

g Main materials-Finishing Special Steel—Electroless nickel plating
S |Weight 1.06kg

S |DfRRE Full/Half 2um/1pm

g |[WLr) Micro step 0.1um(1/20 On resolution)

8 |MAX speed 20mm/sec

= |Load capacity 3kgf[29.4N]

g Perpendicularity 15pm/Full stroke

® Limit sensor Available

§ Origin sensor Available

= |Slit origin sensor —

£ |Uni-directional positioning accuracy 5um

é. Repeatability positioning accuracy +0.5ym

£ |Lost motion 1pm

£ |Backlash 1um

% Straightness 3um

5 Pitching/Yawing 20"/15"

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 1.10kg.



Dimensions

KZG06030TV-P28 I KZG06030TV-S38
Connector HR10A-7P-6S(73) Connector HR10A-7P-65(73)
Connector HR10A-7J-6P(73) Connector HR10A-7J-6P(73)
60
55
5] 8-M3 5DP W 41
8-M3 5DP —
[oN==1
N [*F7] .
~ Jel by 0 A A
w [ L) ] ﬁ?J o
¢ ¢ ® 1 ] [ F@“\ [L])
™\ e % -
) iallia ® $ % aa &
e e |k
o 5 4l0 Ol & o & ml T 5
~ ¢ T X - =
© & o &4l ©@u &
Q7 @ ~ ¢ ¢
- | 1o g ® o
J & & N o | o |14 @ ®
I/ 9 5 & ||| < ;ﬂ
0|
5 © =
ol 5
N,
1T T T T =
[ B 2] [ g Gz o o 7 in
50 i Hil - i i
16_| 16 650 16 | 16 50
25 25 2% _|_ 25 60
60 4-4.5THRU ®8C'BORE 8-M4 5DP 60 4-4.5THRU ®8C'BORE
8-M4 5DP (Bolt hole for M4) (Bolt hole for M4)
KZG06030TV-S40
%_ Connector HR10A-7P-6S(73)
Connector HR10A-7J-6P(73)
61
8-M3 5DP a
L
el ey L
w 3 ) LL*
= -
o\ ([ 4] & :
ar Y|+ |l .
R e4® Qo "
|
& - | 1o [g ®
5 o ||| & ;ﬂ
&8
5
83
il 11 [
i T o g
16_| 16 L+J
8:M4 50 | 25— 25l Ny 5THRY OBCBORE
(Bolt hole for M4)




| Motorized Stage

XYZ-axis Linear Ball Guide : KWG06030V m

KWGO06030TV-P28 KWG06030MV-P28
& Accessory P28 ‘ S38 ‘ S40

Motor bracket 4 0
(installed on main body)
:\;feiLtlt’:“sncgrews) o
Vountng |FOMOOT | 1201256 | 120iM312 | Gof M4-12
screw E‘;L;"ai" 40f M4-10
Sensor cable (O(HR10AP-S-SB-6-[])
Cable tie O ‘ - ‘ -

* Sensor cable: Select from 2m, 3m, 5m

KWG06030TV-P28-[]

B Connector specifications H Application Motor

Code Specification

P28 [[128 Stepping motor specification
S38 [[138 Servo motor specification
S40 [140 Servo motor specifications

T Pig tail

ﬂ Cable option

Code Specification
Blank | Sensor cable 2m One end loose wire

3 Sensor cable 3m One end loose wire
M Panel mount F@ 5 Sensor cable 5m One end loose wire

Model KWG06030TV-P28 KWG06030MV-P28
= Travel distance 30mm

% Stage surface size 60x70mm

5- Connector type Pigtail \ Panel Mount
o |Feed screw (Ball screw) ¢8 Lead 1

S. |Guide Linear Ball Guide

g{ Main materials-Finishing Special Steel —Electroless nickel plating

S |Weight 2.46kg

5 Resolution/ Full/Half 2um/1gm

S [Pulse Micro step 0.1um(1/20 On resolution)

% MAX speed 20mm/sec

g Load capacity 3kgf[29.4N]

g,' Squareness 15um/Full stroke

S’ |Perpendicularity 15pm/Full stroke

® Limit sensor Available

§ Origin sensor Available

Slit origin sensor —

£ |Uni-directional positioning accuracy 5um
é. Repeatability positioning accuracy +0.5ym
£ |Lost motion 1pm
£ [Backlash 1pm
% Straightness 3um
5 Pitching/Yawing 20"/15"

* SPEC is the value of the standard motor.
* When the applicable motor code [S38/S40] is selected, the weight is 2.58kg.




Dimensions

KWG06030TV-P28

Connector HR10A-7P-65(73)

Connector HR10A-7J-6P(73)

a
[0 0l
8-M3 5DP M
CUIR IR
te] A
RIS "
ol 17 &6© Oly o E
R e AR ¢
& e
& ||| & o
8
8-M4 5DP, 5.
&
<
B 7S i
. 8 3 i @I
i i ! il !
[16 [ 16 | ol L s |
% | 2 5 60 335
235 I3 4-4.5THRU OBC'BORE 985
98.5 (Bolt hole for M4)
KWG06030TV-S38 T
Connector HR10A-7P-6S(73)
Connector HR10A-7J-6P(73)
60
3]
8-M3 5DP o
= @ 1 @
EerrmmpﬁZ
7& 4 || 4
g | & |
R $4Q O
0|2
N 4 | & °
& ||| &
8-M4 5DP
8
T T
[t 1 :
16_|_16 ol
%5 2
42 7 \4-4 5THRU ©8C'BORE
17 (Bolt hole for M4)
KWG06030TV-S40 1k
Connector HR10A-7P-65(73)
Connector HR10A-7J-6P(73)
61
4
A A
8-M3 5DP J
kw 4 || 4
wl > 5
9 + |1 5
J 8
S 49 Ol
RS
AT
P & ||| 4 &
8-M4 50P.
g
”U S ® 2
o
- Iy | ®
EREREIEE | Ty
16|16 ol o 50
25 25 60 52
42 75 \ :
7 4-45THRU OBCBORE 17

(Bolt hole for M4)




017

| Motorized Stage

Electrical Specification : KXGO6V M

Electrical specification

Applicable motor code P28 [ S38 \ S40
Feature For (128 Stepping motor \ For [138 AC Servo motor \ For (140 AC Servo motor
Model KXG06020/KXG06030
Pig tail Sensor: HR10A-7J-6P(73) (Hirose Electric Co., Ltd.)
Connector Panel mount Sensor: HR10A-7R-6P(73) (Hirose Electric Co., Ltd.)
Receiving connector Sensor: HR10A-7P-65(73) (Hirose Electric Co., Ltd.)
Limit sensor Available
Origin sensor Available
Slit origin sensor -
S Do Sensor Photo microsensor EE-SX4320 (Omron Co., Ltd.)
Crsoroar Power-supply voltage DC5~24V+5%
Current consumption Total 60mA or less
Control output NPN open collector output DC30V 10mA or less
Output logic 0On detection (light shield condition): Output transistor OFF (Non-continuity)

Pin allocation - Connection diagram

I\élg(tj(;r KXG Series
[Pin allocation) [Connection diagram]
Pigtail specification : Connector model : HR10A-7J-6P(73) (Hirose Electric Co., Ltd.)
Panel mount specification : Connector model : HR10A-7R-6P(73) (Hirose Electric Co., Ltd.) Sensor board
CWLS
1 [CWLS output r =
2 |CCWLS output |
3 |ORG output  Reguiator_
4 |N.C. Vin CoWLS
5 | Power input V+ ‘
6 | Power input GND ED
P28
ks
S38 § [Cable model]
° = | Model:HR10AP-S-SB-6-["] ([is the length.)
S40 * Fixed
Sensor side A Joack | Pin_| Signals
Connector: HR10A-7P-6S(73) (Hirose Electric Co., Ltd.) 1 s | CWLS
" - 2 CCWLS
ULAWM20276 AWG28 3P Black Lo ek ¢ 3 ORG
\ ceyred | L4 NoRg
| White/Black : 5 v+
| Whke/Red ‘ 6 Vo
b Shield !
2m :’EJSO —l1] :"050 mm > om j[f 50 mm *The shields are connected with the connector shell.
Timing chart
KXG06020
CW Limit CCW Limit The origin- Opposite
] Mechanical limit endface end face Mechanical limit
A‘%‘A D Mechanical stopper 4 L
Undetected point
L (inthe stage of light entrance)
Opposite end face The origin end face (Stroke center) COW Limit Detcton gt it cordior)
Undetected point
Lo L. the stage of light entr
KXG06030 Proximity origin sensor g’éte;;n%hegatsla\elsncr;:g\cg;n)
imi CCW Limit
LW Limit CW Limit Hm??r:gepgfw;}gm entrance)
: / Detection (light shield condition)
) CW Limit Stroke center CCW Limit
Opposite end face The origin end face (Stroke center)
Unit[mm] Direction of CW <& > Direction of CCW
Reference coordinate Mechanical limit ~ CW Limit The origin end face Opposite end face CCW Limit ~ Mechanical limit
(Stroke center)
KXG06020T(M) Return to origin 11.5 10.5 0 5 10.5 11.5
KXG06030T(M) Return to origin 16.5 15.5 0 5 15.5 16.5

* Return to origin means that is performed return to origin type 4 using DS102/DS112 series.(DS102/DS112 are dedicated to 5-phase motors)
* The coordinate is a basis of design value. Dimension error may occur about plus or minus 0.5 mm.

Note: The timing chart shows only timing of sensor, it is not for output signal logic.
Refer to ON/OFF display of output transistor that shows on electrical specifications-sensor-output logic for output signal logic.



Applicable motor code
Sensor cable
(HR10AP-S-SB-6-)

Sensor — @
S38 (138mm

For AC servo motor
All customers are required to prepare
DC24V power, controller and PLC by themselves.

S4° [J40mm Motor Motor cable Motor drive
Power supply

For AC servo motor
4
" QH L.
,’ Controller PLC

P28 D 28mm Stage main body
For Stepping motor

[Precautions for handling motorless products)

[important]
Unlike normal products, this is a motorless product with no drive source.
Please be sure to read and agree to the "Scope of Warranty" and "Precautions and Restrictions for Use" before purchasing.

@ Warranty range
The following items are not covered by the warranty.

« Faults and troubles related to motor mounting adjustment
« Accuracy after motor assembly by customer

* Accuracy inspection is performed on the inspection motor to confirm that it is within the standard value.

@ Precautions and restrictions on use

1. Specs: load capacity and maximum speed
Since it depends on the configuration of the main body of the motorized stage, please use it within the specifications of this product regardless of
the performance of the motor. The distance between the limit sensor and the mechanical limit is short, and an overrun may cause collision with the
mechanical limit. Please note that collisions with mechanical limits may adversely affect product accuracy and durability.

2. Torque limit
Using a high-torque motor may give a load that exceeds the product's allowable limit. If the motor torque exceeds 0.25 N - m, please apply the

torque limit.

3. Mounting the motor

Align the body, motor, and coupling before mounting.
Operation in a misalignment situation may lead to early product damage and deterioration. Please refer to the attached assembly procedure

manual and adjust the assembly.

4. Fixing the connector
There are products that require the customer to fix the connector. Before fixing, the connector part and the main body are connected only by the
lead wire, which may cause disconnection, so please handle with care.




| Motorized Stage

Goniometer Stagel 140:KGWO04YV (1-axis)

KGWO04040TV-LP28

KGWO04040TV-RP28

[ [
Motor bracket 1o
(installed on main body)
Coupling
(with screws) o

_[Formotor | 20fM256 | aofmM3-12 [ 2ofma-12
Mounting For Vi
screw or Main "

Body 4of M3-6

Sensor cable (O(HR10AP-S-SB-6-[])

*Sensor cable: Select from 2m, 3m, 5m

KGWO04040 TV-L P28-[]

n Height of center rotation (W.D.)

E Sensor cover location specification

040 ‘ 40mm

[ L position

060 | 60mm

L
R | Opposite hand

E Connector specifications

n Application Motor

T Pig tail

Code Specification

P28 [[]128 Stepping motor specification
S38 [[138 Servo motor specification
S40 [1]40 Servo motor specifications

H cable option

M Panel mount

Code Specification

Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire

Model

SPEC

KGW04040TV-LP28 KGW04060TV-LP28 KGW04040MV-LP28 KGW04060MV-LP28

(Opposite hand)

KGW04040TV-RP28 KGW04060TV-RP28 KGWO04040MV-RP28 KGWO04060MV-RP28

Travel distance +8° +6° +8° +6°
. _ |Stage surface size 40x40mm
3 % Connector type Pigtail | Panel Mount
E;: § Travel mechanism (Reduction ratio) Worm gear(1/240)
g 8 |Guide Cross Roller Guide
=~ [Main materials-Finishing Aluminum - Black alumite finishing,Phosphor bronze - Black paint
Weight 0.28kg \ 0.27kg
g S |Hight of stage 20+0.2mm
S 2 |Height of center rotation 400.2mm \ 600.2mm \ 40=0.2mm \ 60=0.2mm
& ng_: Runout accuracy of center rotation 0.01mm
Resolution/Pulse 0.003°(Fully
?‘: = MAX speed 15°/sec[5kHz]
%5 Repeatability positioning accuracy +0.005°
8 8 |Load capacity 3kgf[29.4N)
S [Moment stiffness Pitch 1.30/Yaw 1.16/Roll 0.27["/N + cm]
Lost motion 0.01°
o |Limit sensor Available
% Origin sensor Available
(=] " P
= |Slit origin sensor

* SPEC is the value of the standard motor.
* When the applicable motor code [S38/S40] is selected, the weight is 0.32kg for the pigtail specification and 0.31kg for the panel mount specification.



Dimensions

KGWO04-TV-LP28 Series
112.8 Connector HR1A-10P-12S(HRS)
3 435THRUGBCBORE [9.8 40 35 28 | Connector HR10A-10J-12P(HRS)
(Bolt hole for M3) 32 .
20 {
& e o} /—w M 6DP o3
== ) —
= ; /
Bels ® g % © @! Iy NE
Vo]

8 (Yl “olud s 3 OJRE
O p g N o Q 16 ©/
e 2\ © 9 Y i i WEE

4-M3 4DP, @4(H7) 4DP ol (ﬂ]» M3 6DP
4-M2 40P ®4from the opossite (H7) 3DP 23 |25
Center of rotation 3 Center of rotation
Q Scale 1° vernier 0.1° Scale 1° vernier 0.1°
0 0
[a\] [ep]
= = I
@ .-@ym I EE] o ' . _DIJ ° o *?!. ﬁ ° ], °
a8 S (e R e B
® o [T Joiy o et ey Rk < ‘ 9% UL
g 0 i
55| 97110 Q b 32 q.
KGW04040TV-LP28 KGWO04060TV-LP28
KGWO04-TV-LS38 Series
?BSHSJF‘*RfU C&%}C‘BORE 1128 Connector HR1A-10P-12S(HRS)
8. [ ~ 28 757 Comnector HR10A-10J-12P(HRS)
32 Ty
20 /—\I_LLU_LI tl
] e o ol k. [
o{(; : ® e ® ag&’:
IR OIINEES «—HE 8
ofs S @\@ gy -2 §
” 4-M3 4DP ®4(H7) 4DP -
4-M2 4DP ®dfrom the opossite (H7) 3DP
| I\._Center of rotation 3 Center of rotation
9 Scale 1° vernier 0.1° Scale 1° vernier 0.1°
2 = ol
9" ® 4 H o= Ry [o= =
12 w o . V. 5 o e R -
A Flin 8 Sor (i 8 gr{&mﬁm&%i
0| —| 00 ) 32 0 32
55 | 287 |4 2555 |52 o -
= § KGW04040TV-LS38 KGWO04060TV-LS38
I
()
N
&
KGWO04-TV-LS40 Series
4-3.5 THRU 06 C'BORE Connector HR1A-10P-12S(HRS)
3 (Bott hole for M3) 112.8
R 9.8 40 48 15 | Connector HR10A-10J-12P(HRS)
32 - .
—20 /—\A_LLU_LI t =
B P [To o[l T c
o o f'e @ P &
o 5 Ylola| gl & M (=] I
@ < U—'—' < -
ol 5 & g@l\ ® Yo H° L D N
4-M3 4DP, 4(H7) 4DP
4-M2 4DP ®4from the opossite (H7) 3DP
Center of rotation 2 Center of rotation
5 Scale 1° vernier 0.1° Scale 1° vernier 0.1°
4 ol
@ ® 4 M lo= @ -
=, a2 o o e, v o o T
O iin R S Rigr b - 8 o
o —~| g 2 32 O 32
55| 287 |[4%88 8 ~
:E_’ § KGW04040TV-LS40 KGWO04060TV-LS40
N
N
&




021

| Motorized Stage

Goniometer Stagel 140: KAWO04V (2-axis)

KAWO04040TV-LP28

KAWO04040TV-RP28

m | w |
Motor bracket o
(installed on main body)
Coupling
(with screws) o
_[Formotor | dofM256 | sofM3-12 [ dofma-12

Mounting For Mai
screw or Vain u

Body 4of M3-6
Sensor cable (O(HR10AP-S-SB-6-[])

* Sensor cable: Select from 2m, 3m, 5m

KAWO04040 TV-L P28-[]

n Height of center rotation (W.D.)

E Sensor cover location specification

040 | 40mm L[ L position
R | Opposite hand
E Connector specifications
n Application Motor
Code Specification
P28 [[128 Stepping motor specification
T Pig tail $38 | [138 Servo motor specification
S40 [140 Servo motor specifications
E Cable option
Code Specification
Blank | Sensor cable 2m One end loose wire
M Panel mount 8 Sensor cable 3m One end loose wire
el e 5 Sensor cable 5m One end loose wire

Model KAWO04040TV-LP28 KAW04040MV-LP28
(Opposite hand) KAW04040TV-RP28 \ KAW04040MV-RP28
Travel distance Upper/Lower axis +8°/+6°
. _ |Stage surface size 40x40mm
kS § Connector type Pigtail \ Panel Mount
%’5 § Travel mechanism (Reduction ratio) Worm gear(1/240)
5 g |Guide Cross Roller Guide
= [Main materials-Finishing Aluminum - Black alumite finishing,Phosphor bronze - Black paint
Weight 0.56kg | 0.54kg
= 5 |Hight of stage 40=0.4mm
S 2 [Height of center rotation 40+0.4mm
e % Runout accuracy of center rotation —
= |Resolution/Pulse 0.003°(Full)
2 Upper 15°/sec[5kHz]
g [MAXspeed Lower 15°/sec(5kHz]
§ Repeatability positioning accuracy +0.005°
S |Load capacity 2.5kgf[24.5N])
S,{ Moment stiffness Pitch 1.57/Yaw 2.32/Roll 1.57["/N « cm]
S [Lost motion 0.01°
o |Limit sensor Available
% Origin sensor Available
(=] " P
= |Slit origin sensor —

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 0.64kg for the pigtail specification and 0.62kg for the panel mount specification.



Dimensions

KAW04040TV-LP28

112.8
9.8 40 35 28
32
20
b |[sr==gs [
N il
R G L Connector HR10A-10J-12PHRS)
o I
Q %8] e ol P Connector HR10A-10P-121HRS)
et o [
2 famzaDpE 4-M3 4DP
o ? 4 (H7) 4DP
@) 4 from the opossite (H7) 3DP
|
N
= Center of rotation
0
y N
%
T J@E@
gggol =ty S o
R L '
ofor Hghwbocts = I §
!
© 0132 | \4-35THRU ®6C'BORE

(Bolt hole for M3)

| KAWO04040TV-LS38

40

40
285

9.5

112.8
98 40 48 15
32
20
e |[EE==t3 [
u Y 4 || Connector HR10A-10J-12P(HRS)
° [
g %8] Eﬂ ® el P Connector HR10A-10P-12S(HRS)
et 5| 1]
© ¥ =
c| f4m24DR7 4-M3 4DP
T 4 (H7) 4DP
® ®4 from the opossite (H7) 3DP

132

4-3.5THRU ®6C'BORE
(Bolt hole for M3)

KAW04040TV-LS40

40

40

105

112.8
98 40 48 15
32
20
0 l JEeah L
in il __|
e, B Connector HR10A-10J-12PHRS)
o I
S8 8] e °ly I Connector HR10A-10P-125(HRS
ot ® ]
2 |an2ane T 4-M3 4DP—
& ®4(H7) 4DP
< — ®4 from the opossite (H7) 3DP
©
10| o
Q| O
N[N e A
NL»’] i iha eerae .| M
1 | |
32 4-3.5THRU G6C'BORE

(Bolt hole for M3)




| Motorized Stage

Goniometer Stagel 160: KGWO0BV (1-axis)

KGWO06050TV-LP28

KGWO06050TV-RP28

023

Accessory P28 ‘ S38 ‘ S40
Motor bracket 1o
(installed on main body)
Coupling
(with screws) o
_[Formotor | dofM256 [ aofmM3-12 [ 2ofma-12
Mounting For el
screw or Main
Body 40f M4-10
Sensor cable (O(HR10AP-S-SB-6-[])
* Sensor cable: Select from 2m, 3m, 5m
KGWO06050 TV-L P28-[ |
1] a a 5]
n Height of center rotation (W.D.) E Sensor cover location specification
050 | 50mm L [ Lposition
075 | 75mm R | Opposite hand
100 100mm .
125 125mm n Application Motor
Code Specification
ﬂ Connector specifications P28 []128 Stepping motor specification
S38 [138 Servo motor specification
S40 [1]40 Servo motor specifications
T | pigtai H cable option
Code Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire
M Panel mount F@
Model KGW06050TV-LP28 KGW06075TV-LP28 KGW06100TV-LP28 KGW06125TV-LP28 KGW06050MV-LP28 KGW06075MV-LP28| KGW06100MV-LP28| KGW06125MV-LP28
(Opposite hand) KGW06050TV-RP28‘KGW06075TV-RP28‘KGW06100TV-RP28‘KGW06125TV-RP28 KGW06050MV-RP28 KGW06075MV-RP28‘KGW06100MV-RP28 KGW06125MV-RP28
= [Travel distance +10° | +8° | +6° | +5° +10° +8° | +6° +5°
S |Stage surface size 60x60mm 60x60mm
£ |Connector type Pigtail Panel Mount
Q
% Travel mechanism Worm gear Worm gear Worm gear Worm gear Worm gear Worm gear Worm gear Worm gear
2 |(Reduction ratio) (1/160) (1/225) (1/292) (1/360) (1/160) (1/225) (1/292) (1/360)
%: Guide Cross Roller Guide Cross Roller Guide
%. Main materials-Finishing Aluminum - Black alumite finishing Aluminum - Black alumite finishing
= |Weight 0.4kg 0.39kg
=2|Hight of stage 25+0.2mm 25+0.2mm
5 2 Height o center rtation]  50+0.2mm [ 75:02mm [ 1000.2mm | 125+0.2mm 50x02mm | 75x02mm | 100x0.2mm | 125x0.2mm
2 Rurot accuracy of centerrotation 0.01mm 0.01mm
§ Resolution/Pulse 0.0045°(Full) 0.0032°(Full) 0.002466°(Full) 0.002°(Full) 0.0045°(Full) 0.0032°(Full) 0.002466°(Full) 0.002°(Full)
§ MAX speed 22.5°/sec[5kHz] 16°/sec[5kHz] 12.5°/sec[5kHz] 10°/sec[5kHz] 22.5°/sec[5kHz] 16°/sec[5kHz] 12.5°/sec[5kHz] 10°/sec[5kHz]
o [epeatabilty positoning accuracy| +0.003° +0.003°
‘E_ Load capacity 5kgf[49N] 5kgf[49N]
8 [Moment stiffness Pitch 0.30/Yaw 0.10/Roll 0.11["/N + cm] Pitch 0.30/Yaw 0.10/Roll 0.11["/N + cm]
S |Lost motion 0.01° 0.01°
¢» |Limit sensor Available Available
@
§ Origin sensor Available Available
= |Slit origin sensor - -

* SPEC is the value of the standard motor.

* When the applicable motor code [S38/S40] is selected, the weight is 0.44kg for the pigtail specification and 0.43kg for the panel mount specification.



Dimensions

KGWO06-TV-LP28 Series
s 50 1285 371 26 Connector HR10A-10J-12P(HRS)
- 50 Connector HR1A-10P-128(HRS)
32
2 l
®@ @ S 4-03
5.0 0 B
4 h =
«©
Nololol [t ©Q@© ] _ o
& ﬁj =
+©® © ] @l
4-Md 5DP/ 4-M3 5DP P4(HT7) 5DP £
®éfrom the opossite (H7) 3DP 2.5

28

5.5

913

50

4-M4 5DP/4-M3 5DP

P4(H7) 5DP

Center of otation

Scale 1° vernier 0.1°

¢ QHBE%

KGW06050TV-LS40

®dfrom the oposstte (H7) 3DP

"N\ Center of rotation

Scale 1° vernier 0.1°

75

KGW06075TV-LS40

i EFHH%WW

Center of rotation

Scale 0.5° vernier 0.05°

' \ Center of rotation Center of rotation Center of rotation
° Center of rotation . o ©
—_— ° " o & o o
© Scale 1° vernier 0.1° = Sede 1° verrer 0. = Scale 0.5° vernier 0.05° ™ Scale 057 vernier 0.05
G o g > ) ) 0] = = - - =
ol Ul 2 il © & o =0 o & £ i [t
~ 50 (u:: 50 f) 50 : 50
KGWO06050TV-LP28 KGWO06075TV-LP28 KGWO06100TV-LP28 KGWO06125TV-LP28
KGWO06-TV-LS38 Series
128.5
Connector HR10A-10J-12P(HRS)
(AR L 418 Comnector HRTA-10P-125(HRS) o= 5
32 e = @
® ® NN “
- [le o ws 55/ 1418 &
g 0 e P I £
- hs ) |6
~lalolo M © @ © o N
©| 0| I ® O o S| °
A = ||
.J\e @ by) | =
4(H7) 5DP
4-M4 5DP/ 4-M3 50P ®4from the opossite (H7) 3DP
Center of rotation Center of rotation Center of rotation
Center of rotation ° °
3 R ) R 2 Scale 1° vernier 0.1° =} Scale 0.5° vernier 0.05° & Scale 0.5° vernier 0.05°
Scale 1° vernier 0.1
3
o om / ® ¥ o o o“'
Nl L kY «©
=l EE{WWW REN HE% BEH Hg%w
0 of o
) 50 ) ~
KGW06050TV-LS38 KGWO06075TV-LS38 KGW06100TV-LS38 KGW06125TV-LS38
KGWO06-TV-LS40 Series
128.5 Connector HR10A-10J-12P(HRS)
11.5 60 44 13 Connector HR1A-10P-12S(HRS)
50 coL° o
32 PC.D.46 o i N
l ® @ 5.5 26.5 4
® 0 T [FT—1—
9 5
I © 00 9
® 0 ©
ey ==8
pO\0 0\ 0y) E

Center of rotation

Scale 0.5° vernier 0.05°

1

25

50

KGW06100TV-LS40

4.2

KGW06125TV-LS40




025

| Motorized Stage

Goniometer Stagel 160 : KAWOGYV (2-axis)

KAWO06050TV-LP28

KAWO06050TV-RP28

KAWO06 050 TV-L P28-[]

Accessory P8 | s | s
Motor bracket 0)
installed on main body)
Coupling
(with screws) o

_[Formotor | sofM256 [ sofM3-12 [ dofm4-12
Mounting For ai
screw or Main .

Body 4of M4-10

Sensor cable (O(HR10AP-S-SB-6-[])

* Sensor cable: Select from 2m, 3m, 5m

n Height of center rotation (W.D.)

Sensor cover location specification

050 | 50mm L [ Lposition
075 | 75mm R | Opposite hand
100 100mm

n Application Motor

H connector specifications Code Specification
P28 [[128 Stepping motor specification
S38 138 Servo motor specification
S40 (1140 Servo motor specifications
T | Pol H cable option
Code Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire
M Panel mount F@
SPEC
Model KAWO06050TV-LP28 | KAW06075TV-LP28| KAWO06100TV-LP28 KAW06050MV-LP28 KAW06075MV-LP28 KAW06100MV-LP28
(Opposite hand) KAWO06050TV-RP28 KAW06075TV-RP28 KAW06100TV-RP28 KAW06050MV-RP28 KAW06075MV-RP28 KAW06100MV-RP28
Travel distance Upper/Lower axis +10°/+8° +8°/+6° +6°/+5° +10°/+8° +8°/+6° +6°/+5°
§ Stage surface size 60x60mm 60x60mm
g Connector type Pigtail Panel Mount
8 |Travel mechanism|Upper Worm gear(1/160) Worm gear(1/225) Worm gear(1/292) Worm gear(1/160) Worm gear(1/225) Worm gear(1/292)
g (Reduction ratio) |L.ower Worm gear(1/225) Worm gear(1/292) Worm gear(1/360) Worm gear(1/225) Worm gear(1/292) Worm gear(1/360)
§"3 Guide Cross Roller Guide Cross Roller Guide
§’- Main materials-Finishing Aluminum - Black alumite finishing Aluminum - Black alumite finishing
Weight 0.80kg 0.78kg
== Hight of stage 50+0.4mm 50+0.4mm
35 |Height of center rotation 50+0.4mm | 75+0.4mm | 100+0.4mm 50+0.4mm \ 75+0.4mm | 100+0.4mm
& ?l Runout accuracy of center rotation — —
Resolution/  |{Upper 0.0045°(Full) 0.0032°(Full) 0.002466°(Full) 0.0045°(Full) 0.0032°(Full) 0.002466°(Full)
g Pulse Lower 0.0032°(Full) 0.002466°(Full) 0.002°(Full) 0.0032°(Full) 0.002466°(Full) 0.002°(Full)
§ MAX speed Upper 22.5°/sec[5kHz] 16°/sec[5kHz] 12.5°/sec[5kHz] 22.5°/sec[5kHz] 16°/sec[5kHz] 12.5°/sec[5kHz]
= Lower 16°/sec[5kHz] 12.5°/sec[5kHz] 10°/sec[5kHz] 16°/sec[5kHz] 12.5°/sec[5kHz] 10°/sec[5kHz]
-‘2‘3, Repeatability positioning accuracy +0.003° +0.003°
§:’ Load capacity 4.5kgf[44.1N] 4.5kgf[44.1N]
S |Moment stiffness Pitch 0.41/Yaw 0.20/Roll 0.41["/N - cm] Pitch 0.41/Yaw 0.20/Roll 0.41["/N ~ cm]
Lost motion 0.01° 0.01°
¢ |Limit sensor Available Available
% Origin sensor Available Available
= |Slit origin sensor - -

* SPEC is the value of the standard motor.
* When the applicable motor code [S38/S40] is selected, the weight is 0.88kg for the pigtail specification and 0.86kg for the panel mount specification.



Dimensions

KAWO06-TV-LP28 Series

KAWO06050TV-LP28 KAW06075TV-LP28

128.5
n1.5 60 31 26
50
32
bl >
| 7
g Connector HR10A-10J-12P(HRS)
ool oy Connector HR10A-10P-12S(HRS)
©| 1Bl m
|
9
2 & —
4-M3 5DP _4-M4 5DP
3 4 (H7) 5DP
‘ [T 0 ‘ ®4 from the opossite (H7) 3DP
& Center of rotation,
I =
Center of rotation =]
i N )|
B
o Center of rotation ‘
[te}
3 S 2 o _ 3l < 2 oy Ol
8a., ﬂll ; ! o |9 ! | B3 W*‘“‘W%M‘““’”DM .
ol mf o MV:*[ “ Juug/;rt N 3 : 5 nhny pua mg:l «
T — | S
3 ‘ - ! ol 050 4-4.5 THRU 8 C'BORE
o 4-4.5THRU ®8C'BORE | 4-4.5 THRU 98 C'BORE N X
= (Bolt hole for M4) o L150 ®dfrom the opossitelH7) 3DP dfrom the opossite (H7) 30P

KAW06100TV-LP28

KAWO06-TV-LS38 Series

(Bolt hole for M4)

KAW06050TV-LS38

D4from the opossite(H7) 3DP

KAW06075TV-LS38

128.5
11.5 60 13
50
32
2 L N
_ 7
Q4 T =] Connector HR10A-10J-12P(HRS)
o|lglar © Connector HR10A-10P-12S(HRS)
©| 0| ™ @
|
g o T
-] 1
4-M3 5DP _4-M4 5DP
®4 (H7) 5DP
3 ‘ I:.l L:.“ ‘ ®afrom the opossite (H7) 3DP
wf Center of rotation
e Center of rotation 8
10
i
o| _Center of rotation
0
3
- ¥
T I
1 1
o o
il 13
o [T . 3
et el 2
o T - o
0! A o
(50 4-4.5 THRU 08 GBORE 50 4-4.5THRU ©8 C'BORE [150 4-4.5 THRU ©8 C'BORE

éfrom the opossite (H7) 3DP

KAWO06100TV-LS38

KAWO06-TV-LS40 Series

(Bolt hole for M4) ®4from the opossite (H7) 3DP

KAW06050TV-LS40 KAW06075TV-LS40

128.5
15 60 a1 1
50
32 T
3
o
__ 7
L | Connector HR10A-10J-12PHRS]
o
ool oy Connector HR10A-10P-12S(HRS)
O 0| M|
|
o -
8 L ¢
4-M3 5DP _4-M4 5DP
@4 (H7) 5DP
3 ‘ H d ‘ ®4from the opossite (H7) 3DP
g
Ja o
o Center of rotation =]
y w
/ 2
o Center of rotation
3
o 2
I
1
8, 8 3
“ 9 83
S <
<
0 ‘\‘I © o I
Ll o L
150 4-4.5 THRU &8 G'BORE 150 4-4.5 THRU 8 C'BORE 150 4-4.5 THRU 8 C'BORE

®4from the opossite (H7) 3DP

KAWO06100TV-LS40

026



| Motorized Stage

Electrical Specification : KGW04V/KGWO6V

Electrical specification

Applicable motor code P28 \ S38 \ S40
Feature For (128 Stepping motor \ For [138 AC Servo motor \ For (140 AC Servo motor
Model KGWO04/KGW06
Pig tail Sensor: HR10A-7J-6P(73) (Hirose Electric Co., Ltd.)
Connector Panel mount Sensor: HR10A-7R-6P(73) (Hirose Electric Co., Ltd.)
Receiving connector Sensor: HR10A-7P-65(73) (Hirose Electric Co., Ltd.)
Limit sensor Available
Origin sensor Available
Slit origin sensor -
i s Sensor Photo microsensor EE-SX4320 (Omron Co., Ltd.)
Power-supply voltage DC5~24V+5%
Current consumption Total 60mA or less
Control output NPN open collector output DC30V 10mA or less
Output logic 0On detection (light shield condition): Output transistor OFF (Non-continuity)
Pin allocation - Connection diagram
Motor .
e KGW Series
[Pin allocation] [Connection diagram]
Pigtail specification : Connector model : HR10A-7J-6P(73) (Hirose Electric Co., Ltd.)
Panel mount specification : Connector model : HR10A-7R-6P(73) (Hirose Electric Co., Ltd.) Sensor board
CWLS
1 [CWLS output r =
2 |CCWLS output 1
3 |ORG output  Reguiator_
4 |N.C. Vin CoWLS
5 | Power input V+
6 | Power input GND ED
P28
8
=
S38 2 [Cable model]
° = | Model:HR10AP-S-SB-6-["] ([is the length.)
S40 * Fixed
_ Sensor side o jema | | Pin | Sianals
Connector: HR10A-7P-6S(73) (Hirose Electric Co., Ltd.) 1 red | 1 CWLS
: - 2 CCWLS
ULAWM20276 AWG28 3P Black LBk o 3 ORG
\ coyred | 4 | NORG
| White/Black : 5 v+
| Whke/Red ‘ 6 Vo
b Shield !
2m 7050 —l1] :"050 mm > om :HSO mm % The shields are connected with the connector shell.

CCW Limit

CW Limit

Py

I—

— [

Mechanical stopper

CCW Limit

Origin sensor

The origin - Opposite
end face

Mechanical limit

/

end face

Undetected point

Mechanical limit

AN

(in the stage of light entrance)
Detection (light shield condition)

Undetected point
(in the stage of light entrance)

Detection (light shield condition)

Opposite
end face The origin end face (Stroke center) oW Limit Eﬁ%‘tﬂ:ﬁiﬁiﬂiﬁﬁﬁmﬁﬂm
CW Limit Stroke center CCW Limit
Unit [deg.] Direction of CW <& P Direction of CCW
Reference coordinate CW Limit Th&torg%"c%"n(iggce Opposite end face CCW Limit

KGWO04040T(M) Return to origin 8.5 0 2.5 8.5
KGWO04060T (M) Return to origin 6.5 0 2.1 6.5
KGWO06050T(M) Return to origin 10.5 0 2.5 10.5
KGWO06075T(M) Return to origin 8.3 0 1.8 8.3
KGWO06100T(M) Return to origin 6.3 0 1.4 6.3
KGWO06125T(M) Return to origin 52 0 1.1 5.2

* Return to origin means that is performed return to origin type 4 using DS102/DS112 series.
* The coordinate is a basis of design value. Dimension error may occur about plus or minus 0.5 deg.

027

Note: The timing chart shows only timing of sensor, it is not for output signal logic.
Refer to ON/OFF display of output transistor that shows on electrical specifications-sensor-output logic for output signal logic.



Applicable motor code
Sensor cable
(HR10AP-S-SB-6-)

Sensor — @
S38 (138mm

For AC servo motor
All customers are required to prepare
DC24V power, controller and PLC by themselves.

S4° [J40mm Motor Motor cable Motor drive
Power supply

For AC servo motor
4
" QH L.
,’ Controller PLC

P28 D 28mm Stage main body
For Stepping motor

[Precautions for handling motorless products)

[important]
Unlike normal products, this is a motorless product with no drive source.
Please be sure to read and agree to the "Scope of Warranty" and "Precautions and Restrictions for Use" before purchasing.

@ Warranty range
The following items are not covered by the warranty.

« Faults and troubles related to motor mounting adjustment
« Accuracy after motor assembly by customer

* Accuracy inspection is performed on the inspection motor to confirm that it is within the standard value.

@ Precautions and restrictions on use

1. Specs: load capacity and maximum speed
Since it depends on the configuration of the main body of the motorized stage, please use it within the specifications of this product regardless of
the performance of the motor. The distance between the limit sensor and the mechanical limit is short, and an overrun may cause collision with the
mechanical limit. Please note that collisions with mechanical limits may adversely affect product accuracy and durability.

2. Torque limit
Using a high-torque motor may give a load that exceeds the product's allowable limit. If the motor torque exceeds 0.25 N - m, please apply the

torque limit.

3. Mounting the motor

Align the body, motor, and coupling before mounting.
Operation in a misalignment situation may lead to early product damage and deterioration. Please refer to the attached assembly procedure

manual and adjust the assembly.

4. Fixing the connector
There are products that require the customer to fix the connector. Before fixing, the connector part and the main body are connected only by the
lead wire, which may cause disconnection, so please handle with care.




| Motorized Stage

Rotary Stage $39/[140:KRW04360V ﬂ

KRWO04360TV-LP28 KRW04360MV-LP28
m [ w |
Motor bracket 0
(installed on main body)
Coupling
(with screws) o
_[Formotor | 20fM25-6 | 4otMa-12 | 20tMa-12
Mounting For Vi
screw or viain ~
Body 3 0f M3-30
Sensor cable O(HR10AP-S-SB-6-[)
Hex wrench 0
(for motor mounting) - -

* Sensor cable: Select from 2m, 3m, 5m

KRW04 360 M| V-L P28-[]

B Connector specifications [ Motor location specification

L [ Lposition
R | Opposite hand

T Pig tail n Application Motor

Code Specification

P28 [[128 Stepping motor specification
S38 [[138 Servo motor specification
S40 [140 Servo motor specifications

M Panel mount F@ H cable option
R Code Specification

Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire

Stage surface shape

Blank | Circular
S | Square

SPEC

Model KRW04360TV-LP28 KRW04360MV-LP28
(Opposite hand) KRW04360TV-RP28 KRW04360MV-RP28
= Travel length 360°
& |Table size $39mm (40 X40mm)
§- Connector specifications Pig tail | Panel mount
2 Travel mechanism (Reduction ratio) Worm gear (Reduction ratio 1/120)
% Guide Deep groove ball bearing
g—’. Main materials-Finishing Aluminum-Black almite finishing
= [weight 0.31kg \ 0.28kg
Resolution/Pulse 0.006°
MAX speed 30°/sec
Z |Positioning accuracy 0.05°
E Repeatability positioning accuracy +0.01°
& [Load capacity 3kgf[29.4N]
8 |Moment stiffness 0.74"/N « cm
S |Lost motion 0.05°
8 |Backlash 0.1°
S |Parallelism 50pm
Eccentricity Spm
Runout 30pum
o |Limit sensor _—
§ Origin sensor Installed
(=] " Py
= |Slit origin sensor —

%1 The figure in parenthesis is the stage surface size when the Stage surface shape option: square (S) is selected.

% SPEC is the value of the standard motor.

3 When the applicable motor code [S38/S40] is selected, the weight is 0.32kg for the pigtail specification and 0.29kg for the panel mount
specification.

029



KRWO04360TV-LP28

975
55 40 51
3-3.5THRU G6C'BORE | |—20— 39 21
(Bolt hole for M3) | 1010 |
ORYE
S =) 15
&2 o (N s
% g 2 e} A Y
\ s fri
I
=i
T
o) 8-M2 4DP

Transmission hole dia. $8 (H7)

.
® Q%D D7/ e
-

35
285
25

i -

j==2=
-

e
1

SOk
PAC =
11.5)11.5] \ 203

I ST CE D

Transmission hole dia. 8 (H7)

39 8-M2 4DP
i !
=F i
i
3 3 %

©20H7

]
55| 145 <
KRW04360TV-LS38
1125
6.5 40 66
20 36
3-3.5THRU (6C'BORE 32
(Bolt hole for M3) 1010 4-M3
SIEIASS: »
2 foe D vo — / -
© o o Ty T <~
Ire) ™|
3 R 2\
I
SR
I
it  S—
Transmission hole dia. 8 (H7)
- (3o \BM24DP
o
w0 U]”& i
Dl--1ite} | -
NN | \7
1 I
v
o
55
KRW04360TV-LS40
1125
6.5 40 66
20 36
3-3.5THRU 6C'BORE 32 '.%,o 16.5 i
(Bolt hole for M3) 10010 \ . 2
© |
8 ot ¢ =TT
=1 A, [ /
o o ©
w5 ™|
3 R 2\
T
Ll
!




031

| Motorized Stage

Rotary Stage $59/[ 160 :KRW06360V

KRW06360TV-LP28 KRWO06360MV-LP28

[ [
Motor bracket 0
(installed on main body)
Coupling
(with screws) ©
_ [ForMotor | 20fmM256 [ 4otMa12 [ 20tma-12
Mounting For Vi
screw or Main -
™ Body 3 of M4-30
Sensor cable (O(HR10AP-S-SB-6-[])
Hex wrench o _ _
(for motor mounting)

* Sensor cable: Select from 2m, 3m, 5m

KRWO06360 M[]V-L P28-[]

n Connector specifications E Motor location specification

L [ Lposition
R | Opposite hand

T Pig tail n Application Motor

Code Specification

P28 [[]128 Stepping motor specification

S38 [[138 Servo motor specification

S40 [1]40 Servo motor specifications
H cable option

Code

M Panel mount

Specification
Blank | Sensor cable 2m One end loose wire
3 Sensor cable 3m One end loose wire
5 Sensor cable 5m One end loose wire
Stage surface shape
Blank | Circular
S | Square
SPEC
Model KRW06360TV-LP28 KRW06360MV-LP28
(Opposite hand) KRW06360TV-RP28 KRW06360MV-RP28
= [Travel length 360°
& |Table size (31) $59mm (60 X 60mm)
%- Connector specifications Pig tail Panel mount
& |Travel mechanism (Reduction ratio) Worm gear (Reduction ratio 1/180)
§ Guide Deep groove ball bearing
% Main materials-Finishing Aluminum—Black almite finishing
= |Weight 0.51kg 0.48kg
Resolution/Pulse 0.004°
MAX speed 20°/sec
= |Positioning accuracy 0.05°
2 |Repeatability positioning accuracy +0.01°
& |Load capacity 3kgf[29.4N]
€ |Moment stiffness 0.2"/N « cm
S: [Lost motion 0.05°
8 [Backlash 0.05°
S [Parallelism 50pm
Eccentricity 5um
Runout 30um
o |Limit sensor —
% Origin sensor Installed
(=] " PP
= |Slit origin sensor —

%1 The figure in parenthesis is the stage surface size when the Stage surface shape option: square (S) is selected.

% SPEC is the value of the standard motor.

% When the applicable motor code [S38/S40] is selected, the weight is 0.52kg for the pigtail specification and 0.49kg for the panel mount

specification.



Dimensions

KRW06360TV-LP28

111.5
6.5 60 45
30 15
3-4.5THRU ¢8C'BORE 25 25
(Bolt hole for M4) 2106 1§0 A7
4 N
=3 a
R Rle f N / = q
| et A 04 @
TN RS A s /1 I X
? M o
[te]
Gl B3 3=t
—H | 3
™ Transmission hole dia. $30 11.5011.5 \ 2-93
8-M3 6DP
$59 4-M4 from the opposite 6DP
oo 177 | SRR
N b 8
2 10 40 N -
55] [4sll25 3E|Y
=3
KRWO06360TV-LS38
127
6.5 60 60.5
30
3-4.5THRU (8C'BORE 25 25 30.5
(Bolt hole for M4) 21% 1260
%l N
ol e &
88 gy f N 1/
5 %mj, A
g~ Q& 2 K 28 B Y
hid
£33
H \k I
) —
Transmission hole dia. $30
8-M3 6DP
$59 4-M4 from the opposite 6DP
ol Al KT = %
mﬁ-gg q_u R et
2 Nl =
N 10 40 ‘
5.5 29 3.5

KRW06360TV-LS40

127
6.5 60 60.5
30
3-4.5THRU 8C'BORE | | 1 2;30 2%5 [ |-305
(Bolt hole for M4) ‘ 16T 16
@ | n——
S ol %\# ¥
= ﬁg@j AN
< ©| — /i
SR xk o
\T ﬂ

Transmissioﬁmle dia. $30

4-M4 from the opposite 6DP
/ |

I
o)
8-M3 6DP
N $59
0 e
Baesl(]
o 2] 0] 40




033

| Motorized Stage

Electrical Specification: KRW04V/KRWO6V m

Electrical specification

Applicable motor code P28 \ S38 \ S40
Feature For []28 Stepping motor \ For (]38 AC Servo motor \ For []40 AC Servo motor
Model KRWO04/KRW06
Pig tail Sensor: HR10A-7J-6P(73) (Hirose Electric Co., Ltd.)
Connector Panel mount Sensor: HR10A-7R-6P(73) (Hirose Electric Co., Ltd.)
Receiving connector Sensor: HR10A-7P-65(73) (Hirose Electric Co., Ltd.)
Limit sensor -
Origin sensor Available
Slit origin sensor -
S board Sensor Photo microsensor EE-SX4320 (Omron Co., Ltd.)
ensor boar Power-supply voltage DC5~24V+5%
Current consumption Total 35mA or less
Control output NPN open collector output DC30V 10mA or less
Output logic On detection (light shield condition): Output transistor OFF (Non-continuity)

Pin allocation + Connection diagram

Motor .
e KRW Series

[Pin allocation] [Connection diagram]
Pigtail specification : Connector model : HR10A-7J-6P(73) (Hirose Electric Co., Ltd.)

Panel mount specification : Connector model : HR10A-7R-6P(73) (Hirose Electric Co., Ltd.) S board
€eNnsor boar

1 | Not used (or CWLS)
2 | Not used (or CCWLS)
3 | ORG output
4|NC. _
5 | Power input V+ Vin
6 | Power input GND GND
P28 Regulator
RS
S38 § [Cable model]
* = | Model:HR10AP-S-SB-6-[] ([Jis the length.) .
S40 * Fixed Sensor side
Connector: HR10A-7P-6S(73) (Hirose Electric Co., Ltd.) prmmmmmmnnnes ,‘ Pin Signals
| /Black . % 1 CWLS
ULAWM20276 AWG28 3P Black [Red ] ; 2 CCWLS
\ : gray/Black ‘ ; 3 ORG
| ; /e ‘ 4 NORG
: Whitte / Black ‘ : 5 V+
—ihits /Red — 6 V-
+50 +50 +150 B Sl ‘
2M 20" mm o 3M o mm s M o m 3 The shields are connected with the connector shell.

Timing chart

Unit [deg.]

Origin detected scale position

The end face of the origin: CCW side edge of shield plate)
KRW04360**V - L

0(

8 (Opposite end face: CW side edge of shield plate)

0 (The end face of the origin: CCW side edge of shield plate)
8 (Opposite end face: CW side edge of shield plate)

KRW06360**V - L

* Return to origin means that is performed return to origin type 4 using DS102/DS112 series. (DS102/DS112 are dedicated products for 5-phase motors.)
* The coordinate is a basis of design value. Dimension error may occur about plus or minus 0.5 deg.

Unit [deg.]

Origin detected scale position

0 (The end face of the origin: CW side edge of shield plate)
KRW04360**V - R ) ) )
8 (Opposite end face: CCW side edge of shield plate)

0 (The end face of the origin: CW side edge of shield plate)
KRW06360V** - R ) ) )
8 (Opposite end face: CCW side edge of shield plate)

* Return to origin means that is performed return to origin type 3 using DS102/DS112 series. (DS102/DS112 are dedicated products for 5-phase motors.)
* The coordinate is a basis of design value. Dimension error may occur about plus or minus 0.5 deg.




Applicable motor code
Sensor cable
(HR10AP-S-SB-6-[])

Sensor —Q
S38 [138mm

For AC servo motor
All customers are required to prepare
DC24V power, controller and PLC by themselves.

540 D40mm Motor Motor cable Motor drive
Power supply

For AC servo motor
Y4
_QH £
, ' Controller PLC

P28 [128mm Stage main body

For Stepping motor

[Precautions for handling motorless products)

[important]
Unlike normal products, this is a motorless product with no drive source.
Please be sure to read and agree to the "Scope of Warranty" and "Precautions and Restrictions for Use" before purchasing.

@ Warranty range
The following items are not covered by the warranty.

- Faults and troubles related to motor mounting adjustment
« Accuracy after motor assembly by customer

* Accuracy inspection is performed on the inspection motor to confirm that it is within the standard value.

@ Precautions and restrictions on use

1. Specs: load capacity and maximum speed
Since it depends on the configuration of the main body of the motorized stage, please use it within the specifications of this product regardless of
the performance of the motor. The distance between the limit sensor and the mechanical limit is short, and an overrun may cause collision with the
mechanical limit. Please note that collisions with mechanical limits may adversely affect product accuracy and durability.

2. Torque limit
Using a high-torque motor may give a load that exceeds the product's allowable limit. If the motor torque exceeds 0.25 N « m, please apply the

torque limit.

3. Mounting the motor

Align the body, motor, and coupling before mounting.
Operation in a misalignment situation may lead to early product damage and deterioration. Please refer to the attached assembly procedure

manual and adjust the assembly.

4. Fixing the connector
There are products that require the customer to fix the connector. Before fixing, the connector part and the main body are connected only by the
lead wire, which may cause disconnection, so please handle with care.




